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2 B &0 R 38 41 79 9.0 70.0 500
EB AH #FH 40 40 80 8.0 72.0 400
313z R & 41 42 83 11.0 72.0 300
461 Z2 EN 41 40 81 8.0 73.0 200
541 Br[&R  25h 39 38 77 3.0 74.0 100
64z A& &ih 44 42 86 12.0 74.0
741 AH EE 39 42 81 7.0 74.0 90
841 BA Eh 49 39 88 13.0 75.0
2 oH BAx 43 42 85 10.0 75.0
104 FH K 41 44 85 10.0 75.0 75
114 e - 38 45 83 8.0 75.0
1241 &R E& 38 38 76 0.0 76.0
1341 e #%iE 44 42 86 10.0 76.0
144 Rt EA 46 43 89 13.0 76.0
1541 HE & 45 44 89 13.0 76.0
1641 Bk AR 42 41 83 6.0 77.0
174 =Y 45 42 87 10.0 77.0
1841 R EE 47 43 90 13.0 77.0
194 EE = 43 47 90 13.0 77.0
20fiL TR #WME 42 40 82 4.0 78.0 75
2141 BX E— 43 44 87 9.0 78.0
2241 HE BA 44 45 89 11.0 78.0
23 X #H— 46 41 87 8.0 79.0
2441 =K C I L) 45 44 89 10.0 79.0
254 T = 39 44 83 4.0 79.0
261 ik &9 43 45 88 9.0 79.0
2741 FIl FRX 41 47 88 9.0 79.0
281 HE ] 46 44 90 10.0 80.0
2911 A FiE 48 45 93 13.0 80.0
301z RKAR *E& 44 46 90 10.0 80.0 75
314 BE BE&F 45 47 92 12.0 80.0
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32 B A 48 43 91 10.0 81.0

331 wE EBER 40 43 83 2.0 81.0

344% M RAKER 44 44 88 7.0 81.0

3541 AR XKiE 47 45 92 11.0 81.0

361 BAR =X 45 48 93 12.0 81.0

374L B ofE— 42 49 91 10.0 81.0

38{iL X FE 43 40 83 1.0 82.0

391 =R IEH 50 46 96 13.0 83.0

401z ®E FB 46 43 89 5.0 84.0 75
41451 R EE 50 46 96 12.0 84.0

4241 HE ER 44 47 91 7.0 84.0

43431 p i 49 48 97 13.0 84.0

44451 mnx 2 48 49 97 12.0 85.0

4511 EBE X 50 49 99 13.0 86.0

46131 hiE & 45 52 97 8.0 89.0

BBE BlR HE 57 47 104 13.0 91.0 120
A8{iL AH 1E 63 61 124 11.0 113.0
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